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.~ circumferences.

Smile 0392

Circumference

' I\/Iedsu.re the dior-he’rer‘-of
some round objects.

Measure their

Look at your cnswers.

Who’r_humber’ can you multiply the didme’rers by to
get answers l_foughly equal fo the circumference? .'
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ung @ Smile 2013

Q Circumference = © x Diameter
You may have a button marked
on your caiculator.
A reascnable approximation for
n (pi) is 3.14.

1. The radius of the earth is about 6 400km.

How far is it around the equator?

3. The hour hand of a clock is 5¢cm long
and the minute hand is 10cm long.

a) How far does the tip of the hour

hand move each day?

b) How far does the tip of the minute

hand move each day?

Turn over

2. How much further does a cyclist go
if she keeps to the outside edge of
the track rather than the inside?

4. The ends of a running track are

semi-circles of radius 40m.
One complete lap is 400m.

How long are the straights?

41992 RRK SMI F
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K /'fbag ml

Can you make a pattern for this kitbag?
You should leave a seam allowance of 2cm.

The length of the strap is four times
the circumference of the bag.
What length of material will you need?

Your cloth is 140cm wide.
Lay out your pattern using as little material as possible.

Make a pattern for a pencil case similar in shape to the kitbag whose dimensions

are % of those of the kitbag. Remember your seam allowance must still be 2em.

Adapted from an activity in MiW Cabbage.
© 1993 RBKC SMILE
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1.

There is a viilage in ltaly

2. Work out the area of the three

Smile 2150

If you were having a pizza
party for 40 peopie, how many
LARGE pizzas weuid you
nesd?

having a pizza festival. They
are making one giant pizza for
100 people.

What is the diameter of the pizza?

© RBKC SMILE 1994.
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3. Approximately how many times

2 ¢
X Diameter ,5 larger is the
"y 5 <
2 SMALL....... T inches ) a) MEDIUM pizza than the
3 3 SMALL pizza?
§ MEDIUM.. .10 inches & pizzs
S o b) LARGE pizza than the
§ LARGE. ... .. 12 inches & SMALL pizza?
: &
4

O LU LT CCLLC L
4. Do you still agree with your
estimate?

The SMALL pizza serves 2 people.
5. Does doubling the diameter,

double the area?
Estimate how many people

a) a MEDIUM pizza would serve?

b) a LARGE pizza would serve? PlZZ

PARADISE

\-‘ﬂ\)vvu—vv\\

pizzas.

Turn over.
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Materials: Electronic calculator

ERBITS

One-quarter of the ‘ e e e 2
circumference of the i
earth, measured
through Paris is 10,000km |{_

. VA SR, SR

m = 3.14 approximately

(1) What is the circumference of the earth?
(2) What is the Diameter of the earth?
(3) What is the Radius of the earth?

(4) A satellite is put into orbit 8km (5miles) above the earth.
Assuming that the orbit is circular what distance does the

satellite cover in one orbit.

(5) If the satellite travels at 30,000 km.p.h. approximately,
how long will it take to circle the earth?

(6) A rope fits exactly
around the equator.

An army of men then 1lift
the rope one metre above
the earth.

The rope is.now too short.
How much more is needed?



